Grower’s format:

Round (market day): 1 2 3 4 10
. Price of the deal:
First -
Production cost:
Sack -
(A) Net (price — cost)
Price of the deal:
Second -
Production cost:
Sack -
(B) Net (price — cost)
Round’s earning (A + B)
Total earnings:
Grower’s format:
Round (market day): 1 2 3 4 10
. Price of the deal:
First -
Production cost:
Sack -
(A) Net (price — cost)
Price of the deal:
Second -
Production cost:
Sack -
(B) Net (price — cost)
Round’s earning (A + B)
Total earnings:
Retailer’s format:
Round (market day): 1 2 3 4 10
Re-selli ice:
First - N price
Price of the deal:
Sack . -
(A) Net (reselling - price)
Re-selli ice:
Second g selling price
Price of the deal:
Sack - -
(B) Net (reselling - price)
Round’s earning (A + B)
Total earnings:
Retailer’s format:
Round (market day): 1 2 3 4 10

Re-selling price:

First -
Price of the deal:

Sack . -
(A) Net (reselling - price)
Re-selling price:

Second - EP

Price of the deal:

Sack

(B) Net (reselling - price)

Round’s earning (A + B)

Total earnings:




